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1. BREBROE

(1) BN

ARG EBAL

EABEBRAUNA

ZWMARE

AREINA

KBZRA 17,490,000 17,490,000 0 17,490,000

EE )63

EENA 700,000 22,500,000 23,200,000 0 23,200,000

HEEINA

SRS eE

HEEZIA

ZIEFE

ENEAON

HEUNZS

Z DI

RE NS E 700,000 0 0| 22,500,000( 17,490,000| 40,690,000 0 40,690,000
(2) Be&R

EE S 6,420,000/ 715,000 1,740,000| 28,625,000| 2,420,000| 39,920,000 0 39,920,000

Nl BREHEAREE 4,100,000 4,100,000 0 4,100,000

N2 AMEREE 200,000 200,000 0 200,000

N3 WEREREE 0

N REFHEEEE 26,150,000 26,150,000 0 26,150,000

O EET 250,000  250,000( 500,000 1,000,000 2,000,000 0 2,000,000

QBB E 80,000 10,000 50,000 60,000 200,000 0 200,000

OEBARE 160,000 20,000( 100,000/ 120,000 400,000 0 400,000

@EBAFE 1,080,000/  120,000|  650,000{ 750,000 2,600,000 0 2,600,000

BN 30,000 5,000 20,000 25,000 80,000 0 80,000

®Y—=k 65,000 10,000 40,000 45,000 160,000 0 160,000

DiBlEE 120,000 20,000 80,000( 100,000 320,000 0 320,000

®FERIR 600,000| 600,000 0 600,000

@R 300,000 30,000{ 180,000 240,000 750,000 0 750,000

O3 - fEmE 50,000 5,000 30,000 35,000 120,000 0 120,000
e 300,000{ 300,000 0 300,000

DEAEEE 135,000 15,000 70,000 80,000 300,000 0 300,000

OBRERE 0

D 50,000 30,000 20,000 20,000 20,000( 140,000 0 140,000

O 1,500,000 1,500,000 0 1,500,000

EEE 2,330,000 0| 2,330,000

N1 BREHRAREE 0

N2 AMERBZE 0

N3 WRRAREE 0

N KRBHFEBE 0

Ok F 4 & 450,000 450,000

QOB BE 100,000 100,000

OFEBARE 100,000 100,000

OES: - 800,000 800,000

(OrZaS= 20,000 20,000

®Y—2H 40,000 40,000

DBIEE 80,000 80,000

@Mk 0 0

@zt 450,000 450,000

OH2 - fHERE 30,000 30,000
Rk 100,000 100,000

QENEEE 100,000 100,000

OfRERR 0 0

D 60,000 60,000

©HEER2

wHREmt 6,420,000 715,000 1,740,000| 28,625,000 2,420,000| 39,920,000 0 0| 2,330,000 0| 42,250,000

SR I A Y AR

Mo -5,720,000| -715,000| -1,740,000| -6,125,000| 15,070,000/ 770,000 0 0| -2,330,000 0| -1,560,000

EARE Mg mE 0 0 0

FE B EHMismE 0 0 0

BEF ML MmIE %S 0 0 0

Bt ety 0 0 0 0 0 0 0 0 0 0 0
YRR AR -5,720,000| -715,000| -1,740,000| -6,125,000| 15,070,000/ 770,000 0 0| -2,330,000 0| -1,560,000




2. EEIMER O

(1) EEIRE

BESNE

BE SRR

(2) BEHNER

BEERBREEHER

BEEBEREHATER

R mBRIIE

BRESNEM

LHREINERER

tREHREHE

LH—ARIER I SRR

-5,720,000

-715,000

-1,740,000

-6,125,000

15,070,000

770,000

-2,330,000

-1,560,000

—REGMERERS

3,860,282

—RIEGRMERRES

-2,330,000

2,300,282

Il FEEERMERROSB

ZRmHBEE

—RRIESRME~OIREHE

LHRIEEIE R SRR

EEEGRMENERS

EEERMERRES

Il IERMESERES

-5,720,000

-715,000

-1,740,000

-6,125,000

15,070,000

770,000

-2,330,000

2,300,282




